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A = 50,000
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I = 20.h
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N= ECr 50,ooo x .20
2 x 5 0

= 10

= NS = 5 x50 = 250 E1lYl

= ;QCI  = ;;I

= 1x50,000x20x98
2 5 100 too

= 980 EIIW
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1,300 0.30
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0.10 &I~~ 1325 25 25x.10~30~5 = 375

0.07 tdol~ 1350 50 50x.07x30x5 = 525
16 50

0.04 tia2aY 1375 75 75x.04x30x5 =0.02 &I~ 1400 loo 100x.02~30~5 450 I= 300

0.07 liiO2G 1350 25 25x.07x30x5 = 262.5

0.04 tdol% 1375 50 50x.04x30x5 = 300 787.5 I

0.02 da24 1400 75 75x.02x30x5 = 225

0.04 rda2% 1375 25 25x.04x30x5 = 150
300

0.02 da14 1400 50 50x.02x30x5 = 150  1
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2 5 25x.02x30x5 = 7 5 7 5

0 0 0

2 1+2

0 1 , 6 5 0  LIIW

25x4 = 1 0 0 887.5  ¶JlW

50x4 = 200 500 EllYl

75x4 = 300 375  ¶JlW

100x4 = 400 400 UIW

mngms N =
I

R,C,(l-?)+R,C,I,(l-2)

2@,  + %I

%Uf% R, = 5,000x250 = 1,250,OOO Whid

R, = 1,200x250  = 300,000 %-iWid

P, = 8,lDOO W.i-X!&I'%k Pz = 4,000 tkwioTv

u ,  =  5,ooo  Qb&wioTu u2 =  1 , 2 0 0  Pstiawk6u
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c* = 2 Llvlc, = 1 mw

II = 0.01 ¶JlYldO~ 12 = 0.02 ¶JlMdO3

s, = 110 Elm s* = 90 ¶JlYl

N =

J

1,25o,OOox.1x.ol(I-~) +300,000x.2x.02(1-~)

2(110+90)

= Jy = 3 , 2 7 2

= 3 . 3  F&iod

@hii  W-Jl&Fl.Ull~tl.4~l  F- 1,000 w EL= 1,250,ooo
N 3.3 = 378,187.87

= 378,788~ =  4 7 . 3 5
8,000

= 47 %

%.&  B - 2 , 0 0 0  = E zz 22.73

= 23 ‘%A
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0 0.20 LGll-iY 125 2 5 25x.20x20x10  = 1,Oal

0.15 da%,- 1 5 0 50 50x.15x20x10  = 1,500 4,000

0.10  GoI%  I75 7s 75x.10x20x  IO = 1,500

2 5 0.15 aibl% 1 5 0 2 5 25x.15x20x10=0.10 &I~ I75 50 50x.10x20x  IO = 750 1
1,750

1,000

50 0.10 &Jai? 175 2 5 25x.Iox2oxlo  = 500 500

7 5 0 0 0 0
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10. Gil

r&I &aimaw3i1  nai&mia

fIX:AlPI 6adas6 lJ1mtl% &depad fllk%l i%&Wlk x&l2

1 10,000 2,ooo 0.005 5.00 20% 5OQ,m

2 4,O@J 960 0.004 8.00 20% 240,000

3 w@J 400 0.003 10.00 20% loQ3oo

4 4mO 1,440 0.002 11.00 20% 360,Oal

I

l&l

l%?XllPI
WA VP, I U/P, R,C,I,(l U/P,) S,

1 5oQ3oox .005x .20 = 500 2,000/10,ooo  = 0.2 Im0.2 = 0.8 500x0.80 = 400 5

2 240,000~  .004x .20 = 192 960/4,000 = u.24 IL.24 = .76 192x0.76 = 145.92 8

3 100,000~  ,003 x .20 = 60 400/2,000 = 0.20 l-0.2 = 0.x 60X0.8 = 48 10

4 360,000x.002x.20 = 144 1,440/4,000  = 0.36 l-O.36 = 0.64

144x0.64= 92.16 II_ _ -

686.08 34

J
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= /z = 1 , 0 9 5  wiao

100-3.65 = 96.35% VI:0  0 . 9635  &%il8% Z = 1.79 6b!kW~l~L~O~~LVil

fk = 1.79x  158Za, = 282.82 = 283 VYiiXl
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= 1,095
120

=  9 .125

(TT  = \ILDL

= \119x502==

= 211 .14

i%.G%i&a~b~O$~  = Za, = 1 .79x217.94

=  3 9 0 . 1 2  VitiX

= 390 mkxJ
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